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MATHEMATICS
Class : VI ] (Max. Marks : 20) [ Time : 45 Mins.
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Name of the Student : Roll No. : ..............
I. Solve these problems. 4x1=4
Bod JdHJgo FHodw.
1. A polygon has 5 sides.This polygon is called
5 gHhazren Ko 2502028 0TS,

II.

2. H.C.F of two consecutive numbers is

Boko SEd Sopge K. .57,

3. Two centimeters are equal to millimeters.
2 oddoeaben DO HTdo.

4. The line segment PQ is denoted by [ ]
PQ3z podonds & mgoe SR
2) *PQ b) PQ ¢) PQ d PQ

Solve the following problems. 2x2=4

Bod JNJge FHoRIIN.

5. Find the least number which when divided by 12, 16, 14 and 36 leaves
aremainder 7 in each case.
12,16,14 $00050 360% rA0RSHR KHAI0 Fdo 7 HTW) EAD Dowgdd
g0k,

6. Name each of the following triangles in two different ways.
Bod aN)S @ehered Bowk P SrTrees® D DY

17cm 15cm
i) ii) 9cm

8cm 9cm
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III. Solve the following problem. 1x4=4
Bod JJg TS,
7. Where will the hour hand of a clock stop in the following cases.

(explain your answer.)
808 BooneS" HASTrEoS® Hobe Koy I & eihéed ?

B3 85080 58oLodk.

1
a) Starts at 2 and makes E of a revolution, clockwise ?

1
2 58 [P0 dSghFS’ 5 LSS0 WS E
b) Starts at 5 and makes Z of a revolution, clockwise ?

3
5 5 @S0 dSghFS’ " LB IS0 BRSYLd

IV. Solve the following problem. 1x8=8
8od ISRV THOX0.
8. a) Check whether the number 10824 is divisible by 2,3, 4, 5
using divisibility rules. Justify your answer.

RIS drE e &IBriod 10824 Jopg 2,3,4,5 o
HoDRE0E BE JOBrE0. b SXrEI) d%ogosod.

(Or)
b) Draw any four types of polygons and name them.

AT Tl 8570 wdvederos Acod $dasw T8 'i)dg 280872
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VI -Mathematics -Solutions
Prepared by :BALABHADRA SURESH

1. Apolygon has 5 sides. This polygon is called Pentagon.
2. H.C.F of two consecutive numbers is 1.
3. Two centimeters are equal to 20 millimeters.
4. The line segment PQ is denoted by [d]
a) .PQ b) —pa ) Tnﬁ d) PQ
5. Find the least number which when divided by 12, 16, 14 and 36 leaves a remainder 7 in
each case.
2|12, 16, 14, 36
Sol: LCM=2x2xXx2x2x3x3x7=1008 216, 8 7 18
2|3, 4 7, 9
The required number is 7 more than 1008. 203, 2, 7,9
i 2= 1z 4 3
The required least number = 1008 + 7 = 1015. 311, 1, 7, 3
LEN
6. Name each of the following triangles in two differentways. i1 .3

1I7cm 15cm
i) ii) Ocm

Scm 9cm

Sol: (i) Right-angled triangle and,scalene triangle.
(ii) Obtuse-angledtriangle and isosceles triangle.

7. Where will the hour hand of a clock stop in the following cases. (explain your answer.)

1
a) Starts at 2 and makes 2 of a revolution, clockwise?

Sol: 8

1
2+§><12=2+6=8

3
b) Starts at 5 and makes 1 of a revolution, clockwise?

Sol: 2

3
5+ZX12:5+9:14:12+2—)2

8. a) Check whether the number 10824 is divisible by 2,3, 4, 5 using divisibility rules. Justify

your answer.
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Sol: (i) Last digit=4. So, 10824 is divisible by 2.
(ii) Sum of digits=1+0+8+2+4=15 is divisible by3
So, 10824 is divisible by 3
(iii) Number formed by last two digits =24 is divisible by4
So, 10824 is divisible by 4.
(iv) Last digit=4 which is neither 0 nor 5. So, 10824 is not divisible by 5.

b) Draw any four types of polygons and name them.

(b) (c) (d)

(a) A Quadrilateral (b) A Triangle (c) A Pentagon (5-sided) (d) An Octagon (8-sided)

N
(a)
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